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The objectives we are working on in this week are:
· To use common factors to simplify fractions
· To compare and order fractions
· To add and subtract fractions with different denominators 
This week’s learning will be a recap of learning we carried out in school during the Spring term. On Monday, you will start by revisiting how to simplify fractions; then on Tuesday, you will revisit comparing and ordering fractions; on Wednesday and Thursday, you will be revisiting how to add and subtract fractions; and finally, on Friday, you will be revisiting previous learning on the order of operations (BIDMAS) using Classroom Secrets Kids. 
[bookmark: _GoBack]Using the link below, click on Summer Term – Week 3 and each day (Monday – Thursday) watch the video and complete the accompanying task (these are printed in your pack). Lesson 1 – Monday, Lesson 2 – Tuesday, Lesson 3 – Wednesday, Lesson 4 – Thursday. 
https://whiterosemaths.com/homelearning/year-6/
On Friday, use the following links to revisit learning on the order of operations using BIDMAS to help you: 

B-brackets 
I-indices 
D-division
M-multiplication
A-addition
S-subtraction 
  
https://kids.classroomsecrets.co.uk/resource/year-6-order-of-operations-game/

https://kids.classroomsecrets.co.uk/resource/year-6-order-of-operations-matching-game/

Play the games to practise your skills and recap learning.  


Monday (part 1)
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Monday (part 2)
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Tuesday (part 1)
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Tuesday (part 2)
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Wednesday (part 1)
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Thursday (part 1)
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Simplify fractions

Use the fraction wall to write each fraction in its simplest form.

a 6_
ﬂ)g O] =

8 _ 4_
B 5= 95=

@ o) Use o fraction wall to explain why % does not simplify.

b) Find three more fractions on the fraction wall that cannot
be simplified.

@ Vo, £va and Ron are trying to simplify -

T can't simplify
this because one number
is odd and the other
is even.

T can't simplify
this because only one number
can be halved.

T can simplify
any fraction.

Do you fully agree, partly agree or completely disagree
each person?

Talk to  partner.

Wi Rose Maths 2019





image3.png
© ) Drow lines on the bar model to show that S isequaltod ‘ © Write 3 fractions that simplify to 2

5

g 30
b) Complete each bar model and calculation. o Teddy and Dora are both simplifying 75

@) How do you think Dora was able to

one step? ;/

b) Simplify these fractions in one step.

2 1
30 2
56 9
5 121
© simplity the fractions.

@)= CE 9 2= @
12 12 120 pid
° v * is a prime number. ' is @ multiple of 10 O
8 _ 40 . N
%= 166 The fraction can be simpli
What could each number be? Explain your reasoning.
4 8 _ 40 a2
20° 20" 200 400

Describe and explain any patterns that you noticed.
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@ ) Colour the bar models to show the fractions.

Compare and order (denominator)

14
20
© write <. > or = to compare the fractions.
9
Use the bar models to help you. i
a)
1 3
5 5 4
5
b) 3
3

<l
<l

b) Use the bar models to sort these fractions in order from greatest

5 to smallest.
4 hC3 ER a 3
20 10 5 a
d)
3 7
8 8
greatest smallest

“Ill
OO O O O

o ) Order the fractions from smallest to greatest.
4 [ A 1 2 3
9 9 10 2 5 10

) What do you notice about your answers? 9

g) Complete the sentence. smallest greatest

When the denominators are the same, the

the numerator, the _______ the fraction. o e e s 218
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© A is comparing the fractions Lond 3 © Wiite <. > or = to compare the fractions.

10
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2
"EO

q 8
30 is greater than 3G

L b)
130 is greater than 75
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@ Annie, Tommy and Kim are making flags for the school fair. @

Annie has completed 3% flags, Tommy has completed 3% flags

© Fon and Rosie are pract

Ron scored 7 out of 10.

g penalties.

T scored more
than you, so T should
take penalties for the
school team.

i 18
Rosie scored 23 out of 30 ond Kim has completed - flags.

Who has completed the most flags?

T did not miss as
many as you, so I should take
the penalties

Compare fractions to explain who should take penalties for the

school team.
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@ Whot common denominator con you use to add the fractions?

a2+l Common denominator =
2,4 .
LR Common denominator =
7.1 .
957 Common denominator =
877
7.1 .
- ) g-g Common denominator =
1,3 .
o t+% Common denominator =
Amir says he needs to find a common denominator.

@) Complete Amir's method.

©  Ron and Eva are working out

CLTITITT] — vt s
2

1,5_6,20_ 2
“r 62t

sl
ol

)

I

10_1
*1270

wi
N

5
%

Sl

12

1
4

@) What is the same about Ron’s and Eva’s methods?

22 12

b) What is different about their methods?
b) Show the addition on the fraction

) Could you have used a different denominator? 9 © Which method do you prefer? Why? 9
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O complete the calcuiations. ons.

@ complete thea

Give your answers as mixed numbers and as improper fractions.

a1+

alw

- 1
= 93

W
wlo
B
wle
W
W

b)

ol

© Vo s drawing jumps on a number line. What patterns do you notice?

The jumps are the same size.

© ook at these additions.

aLe il 1
A 2*3° 2*3

il
wle

@) What is the size of the jump? @) When does this pattern first give an answer greater than 22

b) What is the value of A?
b) Do you think the pattern will ever give an answer greater

than 1007

© complete the bar model.
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Mixed addition and subtraction

@ work out the calcuiations.

2
a) 5+

b)

O complete the calculations.

a) =1

© complete the calculation.
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© Which of these are true and which are false? @ A painter uses the follo

Can you decide without having to do the add
the subtractions?

g mixtures.

How much more green paint does she have than purple paint?

Talk about your reasons with a partner.

(@

True or false?

1,33 1,23
23 +37 s equal to 35+ 27

31 3,1 (e it
33~ Lisless than a3 - 11 paint paint

3_,1 1
33 -27isequalto 33

11 1 o Eva and Amir are wor calculation.
a4 a4
1 13
25 20 This is going
to be very difficult, because
I can't find a common Thave found
1 | 1 denominator. an easier way
50 100

Find Amir's solution. Explain how this calculation can be solved.
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